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#include <iostream>

int main() {
int *p = new int(7), **pp = &p;
int &al =**pp;
int *& a2 =*pp;
int **& a3 = pp;
al++; a2++; a3++;
std::cout << al << "\n";
delete & al;
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#include <iostream>

struct A {
A(char ¢) { std::cout << c<<'"; }

};

struct B : public A {
A&
B* p;
B(char c1, char c2) : A(cl),_a(c2), p(0){}
B(char c1, char c2, char c3) : A(cl), a(c2), p(new B(c2,c3)) {}
~B( { if(_p) delete _p; }

int main() {
B b('a,b','c);
}
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#include <iostream>
classA {
int_a;
public:
static A theA;
A(inta) :_a@) {}
A(const A& other) { std::cout << other._a<<"";}
void foo(A other=theA) {}

b
A A:theA(17);

int main() {
A a(5);
afoo();
A::theA.foo(a);
}
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class Array3d{
int*** _array;
int_x,y, z
public:
Array3d(int X, int y, int 2);_array(new int**[x]),_x(x),_y(y),_z(2) {
for(int i=0; i<x; ++i) {
_array[i] = new int*[y];
for(int j=0; j<y; ++j)
_array[i][j] = new int[Z];
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Array3d(const Array3d& other) :_array(new int**[other._x]),
_X(other._x),_y(other._y), z(other._z) {
for(int i=0; i<_x; ++i) {

_array[i] = new int*[_y];
for(int j=0; j<_y; ++j) {

_array[i][j] = new int[_2];

for(int k=0; k<_z; ++k)

_array[i][j][k] = other._array[i][j][K];
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#include <iostream>
#include <cmath>

struct A {
int operator()(int x) { return 2*x; }

template <typename Function>
void pf3(Function f) {

std::cout << f(f(f(1))) <<" ";
}

int main() {
pf3(AQ);
pf3(sart);
}
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#include <iostream>

struct Base {

Base*_p;
virtual void foo() {_p->foo();}
1

struct A : public Base{};

struct B : public Base {
virtual void foo();

1
struct C : public Base {
virtual void foo() {}

};

A al, az;
B b;
Cc

void B::foo() {
std::cout << "hehe";
a2. p=&c;
_p->foo();

}

int main() {
al. p=&az;
a2. p=&b;
b. p=&al;
al.foo();

}
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void C::foo() {
_b=2&b;
_p->foo();
}
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#include <iostream>
classA{};

A* operator -(A& a) {
static int count=0;
std::cout << ++count << " ";
return & a;

}

int main() {
Ag

*_k_*_*_-
HHHg,

}

template<typename T>
struct A{T** _t;};

template<typename T>
void foo(A<A<T**> >& a) {a._t;}

int main() {
A<A<A<char>*** > > c;
foo(c);

}
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A<A<A<char>***> > -y A<A<char>***> A<char>:hawn
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A<char>* :haywn

(6%) 13
:foo PxpNan qua xxmn "a_t" »vran by vwvn PN NN

A<A<char>***>** . naywn
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template <typename T, int SIZE>
class Array {
T _array[SIZE];
public:
T& operator[](int i) { return _arrayl[i]; }

int main() {

for(int i=0; i<5; ++i)
for(int j=0; j<7; ++j)
arr2d[i][j] = i*j+0.5;
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Array<Array<double,7>,5> arr2d;
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#include <iostream>

class Printable {

public:

virtual void print() = 0;
1



class B : public Printable {

public:

virtual void print() { std::cout <<"B"; }
b

template <typename T>
class Pair : public Printable {
public:
T* first,*_second,
virtual void print() {
_first->print();
_second->print();

h

int main() {
B b;
Pair<B> p1;
pl. first = pl. second = &b;
Pair<Pair<B> > p2;
p2. first = p2._second = & pl;
Pair<Printable> p3;

p3._first = &pl;
p3._second = &p2;
p3.print();
}
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p3._second = &p3;
p3.print();
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#include <iostream>

classA {
public:
staticint _c;
void foo() {
if(_ct++==2)
return;



foo();

void foo() const {
if(_ct++==4)
return;
foo();
}
b

int A::_c=0;

int main() {
Ag
const A ca(a);
afoo();
ca.foo();
std::cout << A:;_c<<"\n";
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